



Penthouse in Senglea

Senglea, South



€292,000

Reference No: 240311033-298

Total Rooms: 4

Floor Area (m²) : 50

Bathrooms: 1

Bedrooms: 1

Penthouse - For Sale - Senglea

SENGLEA – UCA area - Penthouse with Sea Views. This penthouse enjoys stunning sea views and comes with full airspace. The property layout consists of an open-plan kitchen, living and dining area, one bedroom, a main bathroom, and a balcony. For an immediate viewing, please contact us.

Features

- ✓ Ceramic Floor
- ✓ Water Utility
- ✓ Gypsum Plastering
- ✓ A/C
- ✓ Double Glazed
- ✓ Entrance Hall
- ✓ Electricity Utility
- ✓ PVC Piping
- ✓ Skirting
- ✓ Satellite / TV/ Cable

Rooms

- ✓ Double Bedroom : 3.9 x 3.51 m (13.69 m²)
- ✓ Hallway : 6.38 x 6.38 m (40.7 m²)
- ✓ Bathroom : 1.5 x 2.3 m (3.45 m²)
- ✓ Living/Dining : 3.52 x 3.8 m (13.38 m²)
- ✓ Kitchen : 7.9 x 1.59 m (12.56 m²)
- ✓ Open Space : 2 x 0.75 m (1.5 m²)

Gallery





Alex Calleja

RE/MAX Masters - Qormi

M: 99838927

E: alexc@remax.com.mt

T: 22265300

RE/MAX Masters - Qormi

4Triq Antonio Muscat Fenech, Qormi, Malta